STANDGAR. gﬁﬁﬂr’iﬁ:’lﬂfl‘gﬁfsous USA ’RR’GA T’ o N HEA D TR’MM ER

GOLF zanmvis bhors; 3192662638
© LAMPANYAY Fax: 319.266.9627

Key Number/Item Description/Quantity/Part Number

29602
29601
29603

Irrigation Head Trimmer Cross Bracket
Irrigation Head Trimmer Blade
Blade Assembly Hardware Package
1/4-20 X 5/8” Bolt
1/4-20 Set Screw
Collet
1/4-20 X 1-1/4” Bolt
1/4-20 Hex Nut

N —

NONO AN W
NNDANDNDN—aO—w—

PMIHT-29600-A

S

29600

6,7




